T F 4 (B f1H4) AL RKMITEOK B AR T8 207.5 m
R 4 DCIP (GX) ¢ 300mm L= 207.50 m
Ex kg o 2 ®OHNL [ R | HA =S 1’ HT S
s gy A o0& 100 A& [ 12.700 | m 12.70 | m
L 9% 9% 10 10 A | 23410  m 23.41 | m
SHEE B TR R B Rk 18 18] K 6.000 | m 108.00 | m |BUskOIEHE
- Ho)E 120 & | 47.730 | =m 47.73 | m
SHE )% 2 12 3| A 4.050 | m 405 m
BE ARt 40 A [EXEFIR 195.89 | m
=T & 300%150 ] 0.540 | m m
Frz s ¢ 300%90° 4 4 {# 0.716 | m 2.864 | m
® 300%45° 1 1] A 0.560 | m 0.560 | m
¢ 300%22° 1/2 [l 0.469 | m m
6 300%11° 1/4 2 2 A 0.400 | m 0.800 | m
¢ 300%5° 5/8 8 8 A 0.375 | m 3.000 | m
52 il ¢ 300%45° 7 7 @ 0. 250 m 1. 750 m
¢ 300%22° 1/2 3 3 0.169 | m 0.507 | m
s A ¢ 300 ] 0. 020 m m
Hh AR 25 | RIPEEE 9.481 | m
[ ® 300 2 2 0.300 | m 0.600 | m |yl-Ti&
R AR BT K ] T 245 | ¢ 300 X 300, KIEAZ 1197 by—-wapfd 1 1 X 0. 590 m 0.590 m |DCIPH
) Fr 2R 3% ¢ 500 H 9001 1 1 #H
HEX TP ¢ 25 3 3 Xk
H R A5 KR $ 300 X 50 4 4 A DCIPH
AT ¢ 50 4 4 {# =5 ;M
2RI FR I 2% ¢ 350 H 9001 3 3
Loy s ¢ 300 10 10 {#
| #Tdi (GX) $300 F Wb+ tyb - 3T AT 15 15
545 SHLUAZ &5 17 17 {# 0.054 | m 0.918 | m J(A-Y)~FiE
G-Link ¢ 300 25 25| &
Ry 2k I (K) ¢ 300 3DKNLL I 1 1 A
HetE iz > 7 ¢ 300 8 8 fA
RYTF LB EE | ¢ 50 4.3 4.3 m
A—E—H Y47y |50 K /& e EikE 1 1 & HEJEH
El#EFFl VA7 > k| 650 & xR 4 BikE 4 4 & HEVEH
90° T/LR 6 50 & )rFvyE A EAET 3 3 HEJE
i 1B A ¢ 50 & xFLvE A Rk 1 N ] HEVE A
oy 7 Ay FAEER | ¢ 50 1 1 A HEJE
ARAIE L MIE15 ¢ 250 H 900/ 1 1 1 HEVEH
EHRT—T 1 50mm 211.8 211.8) m 207.5+4. 3
HEREFORY— b i§400mn 211.8 211.8) m 207.5+4.3
o~ — T — 26 26 {&
DA 8 AR | FOMIEE 2.108 | m
T I T 207.48 m | 207.479
2 B HEES [ A S
Frigk L. FE A %A [195.89 + 9.481 205.4/ m
Gl - 1Y) 2o RURHEN LAMEM+= o h v ¥ — ks 10 » it |k o s
LI I TV B — AR 25 T |BIAREDE
fEal] 4 ¥R AT AMA BT | B O R E
oL X% X v Bl U A T AR A 10| 4 it
GXikF T AL 10 + 18 + 12 40| » it
FIBAE TR 15 »Hr
HIBEEE G-Link 25| » T
R ARSI T 6 300 X 300 Lot
T E)NH VT (0. 4985 0. 4985 X 3. 14/4-0. 3228 X 0. 3228 X 3. 14/4) X 11. 0 1.3 m3 [HEdEE N FIE
AH=hFEFEL | (K) ¢300 3DkNLA | 1 #pr
H RS KR ESA T | ¢ 300%50 4| o P |ZE5Tr, SRR
Pk T ¢ 25 3 4P
a7 Buft T ¢ 50 4 7t | 225, PEEH
RYTF LB T | ¢ 50 4.3 m |HEREH
RV ZF LT T 50 9 » 7t |BEVEH
EREE T L ¢ 50 2 » T |BEEA
IE/KFE U T ¢ 50 HufFDIH 1| »pr |Heve A
Kk E L M35 ¢ 500 H 900/ 1 7t
M2 ¢ 350 H 900/  [#E=Fe. LI 3 »pR
M1+ ¢ 250 H 900/  [HETEH 1 »pr
AH=HNEFESLL | (K) ¢ 300 Fpgkffimtt |08 (BERRGX) 1 &pr
AUy 7 HE WA E ¢ 300 1] &
KRBT 0.5/ H
0740 YR E T 211.8 m |207.5+4.3
BEWHRT—7 T 5 50mm DCIP (GX) ¢ 300 207.5 m
HHRT—7 L 1% 50mm PP ¢ 50 4.3
B R — T 1§400mm 211.8 m |207.5+4.3
FUZFLL R —T T 207.5 m
2 7 J— T 18-8-25BB (2.5X2.5X3.14) +4X1.315X2 13 w3 |STHLN
MR
JH K EER T FA K BN B 0. 41 B |207. 479/500




GX ¢ 300(1FE4) L_: 6.00 m/ A&
b oE oA adt | wm | G | owon | woos
wE jiEIKE ZOE B | B & [ R &
1.300 4.010
1 D > > 5.310 | 0.690 1 1
15+ B 7
1.300 4.430
2 > 5.730 | 0.270 1 1
:H} iﬁ?%m‘ﬁ B 7
1.300 4.190
3 > 5.490 | 0.510 1 1
:H} 1)+ B 7
1.300 0.840
4 > 2.140 | 3.860 1 1
:H} iﬁ?%m‘ﬁ B 7
1.300 1.930
5 > 3.230 | 2.770 1 1
:H} iﬁ?%uﬁﬁ B 7
1.300 1.690
6 > 2.990 | 3.010 1 1
:H} iﬁ?%m‘ﬁ B
1.300 2.410
7 > 3.710 | 2.290 1 1
]I> iﬁt)J*U}ﬁ G oD A
1.300 1.210
8 D > > 2.510 | 3.490 1 1
15+ B
1.300 1.550
9 D DS > 2.850 | 3.150 1 1
15+ ) B
1.000 1.150
10 > 2.150 | 3.850 1 1
]I> iﬁt)J*U}ﬁ B> A
11 I[)
12 I[)
13 I[)
14 I[)
15 I[)
16 I[)
17 I[)
18 I[)
3 12.700 23.410 36.110 | 23.890 10 10
BB 10 10
A 10




FE SRS B DA O
T4 (&) AR FETRL K& A s T

B XAV (GXTR)SHLE

g é 300 mm
[EKES 6.00 m/ A
UIEER
L HY) CAVE R
—/3 D>
1 4.07 1.73 0.20
2 5.27 0.73
3 5.27 0.73
4 3.97 1.41 0.62
5 3.97 2.03
6 2.56 3.44
7 5.85 0.15
8 3.90 2.10
9 5.82 0.18
10 3.66 2.34
11 1.29 0.91 3.80
12 2.10 3.90
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
2t 47.73 4.05 20.22
O)E K 12 3
TR 12
1) W 56 i 15




%

(No. 1)
€I 4 (Z2fh4) AL R R E AR T3
B & o Bt RGE S
e #t 5 A | % & | w
(z— FNo. )
( ) | ELO~PED
+ I
AstlEr
£=0. 03~0. 15mm |335. 80 + 57. 60 393. 40 390|m
AsH| ZHLY
t =0.03m [5.58 + 0.00 5.58 6| ni
AsH| ZHLY
t =0. 15m 121.45 + 22.19 143. 64 144 |t
AsIEH
4. 5Km 18.38 + 3.32 21.70 22|
AsWLgy
( ) [43.20 + 7.82 51.02 51|t
I
BHO. 28 191.56 + 32.73 9294. 99 220(nd
B (1)
BHO. 28 62.87 + 12.29 75. 16 75| m
HRE (F4ET)
BHO. 28 m
B (Wem)
BHO. 28 84.86 + 7.07 91.93 92|m
7 gk
DT4t 6.5km |191.56 + 32.73 224. 29 220| 1t
T
191.56 + 32.73 224. 29 220| 1t
AN E
e 3.72 + 0.00 3.72 4| nd
T R T
RC40-0 t=0. 15m [121.45 + 0.00 121. 45 121t
T R T
RC40-0 t=0. 35m [0. 00 + 22.19 22.19 22| nd
b AR T
RC40-0 t=0. 15m [1.86 + 0.00 1.86 2| i
b AR T
M40-0 t=0.20m |121.45 + 0.00 121. 45 121|nd
b AR T
M40-0 t=0. 25m [0.00 + 22.19 22.19 22| nd
A8 1B (B AR AS13)
£=0. 03m 1.86 + 0.00 1.86 2| i
{518 10 (P A HLRLEE AS20)
t=0. 05m 121.45 + 22.19 143. 64 144 |t
AsZE T, t=0. 03m
BAENIRIEEAS13 [3. 72 + 0.00 3.72 4|t




o 55

(No. 2)

€T 4 (Z2fh4) AL R R E AR T3

B 4 o s EaEAE
e #t 5 A | % & | w
(z— FNo. )
FEERR L
% LB S BCEA - 14T G 4)
JEEIE2. omLL T 0. 00 + 3. 60 3. 60 3.6|m
R LB S UEA - 18 L G 4)
JREIE2. 5mLL T [3.80 + 7.20 11. 00 11.0|m
R LB S CEA - 14 L G 4)
JEHIES. omEL T |38. 10 + 0. 00 38.10 38.1|m
R S B SRR - R T
Fran o - 2mr |0, 00 + 3. 60 3.60 3. 6|m
R G B SRR - R T
x7so 47 1 -2 el (41,90 + 7. 20 49. 10 49, 1|m
108 Sl bR BB

H=2. 5m RN R ERI=2. bm AR E LY 0.70 0. 7|t
108 Sl bR BB

H=3. Om RN R ERI=3. Om  fEF AR E LY 2. 60 2.6[t
0% Sl bR BB

H=3. 5m RN R ERI=3. bm AR LY 3. 40 3. 4[t
IR
R ERAT D T il
12mEh N 10kmE CRE#[0. 7+2. 6+3. 4 6.7 6. 7|t
R DFEA R - BUET L&

1Y 0.7+2.6+3. 4 6.7 6. 7|t
2oy ¢
(z@ehEEA) [0+ 4 4 4[N
2oy ¢
(Z@FHEEB) |64 + 20 84 84| A




% i *

(No. 1)
T % 4 0 (Zft4) AERAETEOKE AR T3
B 4 o hhEsE
(
fi% - ’DJ”) it i A | % R | e
( ) | ELO~O), HEED, @
+ I
Ast) T
£=0. 03~0. 15mm |237.20 + 76.20 + 7.60 + 0.00 + 0.00 + 0.00 + 2.40 + 12.40 335. 80 m
AsH| ZHLY
t=0.03m [0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 5.58 5. 58 ot
AsH| ZHLY
t=0.15m [83.02 + 34.29 + 3.42 + 0.00 + 0.00 + 0.00 + 0.72 + 0.00 121. 45 nt
AsTEM
4. 5Km 12.45 + 5.14 + 0.51 + 0.00 + 0.00 + 0.00 + 0.11 + 0.17 18. 38 m
AsWLgy
( ) [29.26 + 12.09 + 1.21 + 0.00 + 0.00 + 0.00 + 0.25 + 0.39 43. 20 t
I
BHO. 28 97.13 + 84.70 + 7.15 + 0.00 + 0.00 + 0.00 + 0.66 + 1.92 191. 56 m
B (1)
BHO. 28 41.94 + 18.20 + 1.81 + 0.00 + 0.00 + 0.00 + 0.26 + 0.66 692. 87 m
HRE (F4ET)
BHO. 28 m
B (Wem)
BHO. 28 24.91 + 54.86 + 3.90 + 0.00 + 0.00 + 0.00 + 0.22 + 0.97 84. 86 m
7 gk
DT4t 6.5km |97.13 + 84.70 + 7.15 + 0.00 + 0.00 + 0.00 + 0.66 + 1.92 191. 56 m
ol
97.13 + 84.70 + 7.15 + 0.00 + 0.00 + 0.00 + 0.66 + 1.92 191. 56 m
AR E
Tl b 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 3.72 3.792 nt
T R T
RC40-0 t=0. 15m [83.02 + 34.29 + 3.42 + 0.00 + 0.00 + 0.00 + 0.72 + 0.00 121. 45 nt
T R T
RC40-0 t=0. 35m [0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 ot
b AR T
RC40-0 t=0. 15m [0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 1.86 1.86 ot
b AR T
M40-0 t=0.20m [83.02 + 34.29 + 3.42 + 0.00 + 0.00 + 0.00 + 0.72 + 0.00 121. 45 nt
b AR T
M40-0 t=0.25m [0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 nt
{515 1B (AR RIS AS13)
t=0. 03m 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 1.86 1.86 ot
(515 1H (A A HLREEEAS20)
t=0. 05m 83.02 + 34.29 + 3.42 + 0.00 + 0.00 + 0.00 + 0.72 + 0.00 121. 45 ot
AsFJE T t=0. 03m
THAE AR EEAS13 10.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 3.72 3.72 n




o = ES

(No. 2)
T 3 4 o (4 b RMAETE K E AR L
¥ 4 o hiEaEt
#m Al - - e e o
(_—_1»« K No. ) u+ an'ﬁ"ﬂE ;& B %‘LL
BB T

ik L S AREA - 513 T GifA53)

PEHAE2. OmEL T 10.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 m

ik L S AR A - 513 T (A 53)

HESI7E2. 5mEL T [0.00 + 0.00 + 3.80 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 3. 80 m

g B S AREA - 518 T GifR53)

PEHITES. omLL T [0.00 + 38.10 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 38. 10 m

6 ik SR R - i T

F7o 7w -hg 2ok [0, 00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 m

6 ik SR R - i T

serst e aswr 0,00 + 38,10 + 3,80 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 41. 90 m

R
SE
G ¥
%
i
i
=

16 H X4 N/ H 64 64| A\




% i *

(No. 1)
T % 4 (Z2fh4) AL R R E AR T3
B A 4 VB A R
(
2w it 0 T I
( ) | ETLO~®
+ I
As BB
t=0. 15m 0.00 + 0.00 + 0.00 + 33.40 + 14.40 + 9.80 + 0.00 + 0.00 57. 60 m
AsH| ZHLY
t =0.03m [0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 i
AsH| ZHLY
t =0.15m [0.00 + 0.00 + 0.00 + 11.69 + 6.48 + 4.02 + 0.00 + 0.00 29.19 nt
AsTEM
4. 5Km 0.00 + 0.00 + 0.00 + 1.75 + 0.97 + 0.60 + 0.00 + 0.00 3. 39 m
AsWLgy
( ) [0.00 +0.00 + 0.00 + 4.12 + 2.28 + 1.42 + 0.00 + 0.00 7.82 t
I
BHO. 28 0.00 + 0.00 + 0.00 + 13.68 + 13.54 + 5.51 + 0.00 + 0.00 39.73 m
B (1)
BHO. 28 0.00 + 0.00 + 0.00 + 5.91 + 3.44 + 2.94 + 0.00 + 0.00 12. 29 m
HRE (F4ET)
BHO. 28 m
B (Wem)
BHO. 28 0.00 + 0.00 + 0.00 + 0.58 + 6.29 + 0.20 + 0.00 + 0.00 7.07 m
7 gk
DT4t 6.5km |0.00 + 0.00 + 0.00 + 13.68 + 13.54 + 5.51 + 0.00 + 0.00 39.73 m
ol
0.00 + 0.00 + 0.00 + 13.68 + 13.54 + 5.51 + 0.00 + 0.00 39.73 m
AR E
Tl b 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 nt
T R T
RC40-0 t=0. 15m [0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 nt
T R T
RC40-0 t=0. 35m [0.00 + 0.00 + 0.00 + 11.69 + 6.48 + 4.02 + 0.00 + 0.00 29.19 ot
b AR T
RC40-0 t=0. 15m [0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 ot
b AR T
M40-0 t=0.20m [0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 nt
b AR T
M40-0 t=0.25m [0.00 + 0.00 + 0.00 + 11.69 + 6.48 + 4.02 + 0.00 + 0.00 29.19 nt
{515 1B (AR RIS AS13)
t=0. 03m 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 ot
(515 1H (A A HLREEEAS20)
t=0. 05m 0.00 + 0.00 + 0.00 + 11.69 + 6.48 + 4.02 + 0.00 + 0.00 29.19 ot
AsFJE T t=0. 03m
AR AR EEAS13 10.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 nt




£

(No. 2)
T % 4 (Z2fh4) b RARETROK E A T3
B A 4 VOB AR
e 2 5 s | om B | ok
(z— FNo. )
ARG L.
5% B0 SRR A + 518 T (i 57)
HRSI7ZE2. omEL TR 10.00 + 0.00 + 0.00 + 0.00 + 0.00 + 3.60 + 0.00 + 0.00 3. 60 m
5% B0 S BRCA + 518 T (i 53)
HRSI7ZE2. 5mEL TR 10.00 + 0.00 + 0.00 + 0.00 + 7.20 + 0.00 + 0.00 + 0.00 7.90 m
5% B0 S RRCA - 518 (i 53)
HRSI7E3. omEL R 10.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 + 0.00 m
R S B SRR - R T
st o - 2o |0.00 + 0.00 + 0,00 + 0.00 + 0.00 + 3.60 + 0.00 + 0.00 3,60 m
R G B SRR - R T
st o e s |0.00 + 0.00 + 0,00 + 0.00 + 7.20 + 0.00 + 0.00 + 0.00 7.90 m
Erae oy
(ZEFFEEA) [4H X1A/H 4 1IUN
Erae iy
(ZEFFEEBR) [4H X5A/H 20 20| A




N BN *
X7 A VERERE (GXIE) (No. 1)
T # 4 (ZfH4) AL RMETEOK E AR TF
B4 o ETO +#0 090 m 1= 118.6 m
il il - - " .
. it ) FHAE B = Hifir
(— KNo. )
( ) | IO
+ T
As B = 118.6 m
t=0. 15m 118. 6%2 237. 20 m
AsH| ZHLY
t =0.15m  |0.70%118.6 83. 02 i
AsIEHK
4. 5Km 0. 70%118. 6%0. 15 12. 45 m
AsWLgy
( ) [0.70%118. 6x0. 15%2. 35 29. 26 t
I
BHO. 28 0.70%1.17%118.6 97.13 m
s (1)
BHO. 28 (0. 70%0. 62-0. 32 ~ 2%3. 14/4)*118. 6 41.94 m
HRE (F4ET)
BHO. 28 m
B (Wem)
BHO. 28 0. 70%0. 30%118. 6 24.91 m
7 e
DT4t 6.5km |0. 70%1. 17%118. 6 97.13 m
ol
0.70%1.17%118.6 97.13 m
AR E
Al A 1 nt
T R T
RC40-0 t=0. 15m |0. 70%118. 6 83. 02 i
b AR T
M40-0 t=0.20m [0.70%118.6 83. 02 i
{518 10 (P A= HLRLEEAS20)
t=0. 05m 0.70%118.6 83. 02 i
AsZJE T, t=0. 05m
AR EEAS20F nt




N BN *
X7 A VERERE (GXIE) (No. 1)
T # 4 (ZfH4) AL RMETEOK E AR TF
B4 - ETO #0220 m L= 38.1 m
p
e it i A | % R | e
(— KNo. )
( ) | ET®
+ T
As B = 381 m
t=0. 15m 38. 1%2 76. 20 m
AsH| ZHLY
t =0.15m  |0.90%38. 1 34. 29 i
AsIEHK
4. 5Km 0. 90%38. 1%0. 15 5.14 m
AsWLgy
( ) [0.90%38. 1x0. 15%2. 35 12.09 t
I
BHO. 28 0. 90%2. 47%38. 1 84. 70 m
s (1)
BHO. 28 (0. 90%0. 62-0. 32 ~ 2:%3. 14/4)*38. 1 18.20 m
HRE (F4ET)
BHO. 28 m
B (Wem)
BHO. 28 0. 90%1. 60%38. 1 54. 86 m
7 e
DT4t 6.5km 0. 90%2. 47%38. 1 84. 70 m
ol
0.90%2, 47%38. 1 84. 70 m
AR E
Al A 1 nt
T R T
RC40-0 t=0. 15m |0. 90%38. 1 34. 29 i
b AR T
M40-0 t=0.20m [0.90%38. 1 34. 29 i
{518 10 (P A= HLRLEEAS20)
t=0. 05m 0.90%38. 1 34. 29 i
AsZJE T, t=0. 05m
AR EEAS20F nt
ARG L.
R LB S A - 518 L G 4)
PEHITZES. omPL T 38. 1 m
R B SRR - R T
XTHN AT -h2B 3. 5ublF 38.1 m




N BN *
X7 A VERERE (GXIE) (No. 1)
T # 4 (ZfH4) AL RMETEOK E AR TF
B4 o BT +H0 1.82 m 1= 3.8 m
il il - - " .
. it ) FHAE B = Hifir
(— KNo. )
( ) | ET®
+ T
As BT L= 3.8 m
t=0. 15m 3. 8%2 7.60 m
AsH| ZHLY
t =0.15m |0.90%3.8 3. 42 m
AsIEHK
4. 5Km 0. 90%3. 8%0. 15 0.51 m
AsWLgy
( ) 0. 90%3. 8%0. 15%2. 35 1.21 t
I
BHO. 28 0. 90%2. 09+3. 8 7.15 m
s (1)
BHO. 28 (0. 90%0. 62-0. 32 ~ 2%3. 14/4)*3. 8 1.81 m
HRE (F4ET)
BHO. 28 m
B (Wem)
BHO. 28 0.90%1. 14%3. 8 3.90 m
7 e
DT4t 6.5km 0. 90%2. 09%3. 8 7.15 m
ol
0.90%2, 09%3. 8 7.15 m
AR E
Al A 1 nt
T R T
RC40-0 t=0. 15m |0. 90%3. 8 3.42 i
b AR T
M40-0 t=0.20m [0.90%3.8 3.42 i
{518 10 (P A= HLRLEEAS20)
t=0. 05m 0.90%3. 8 3. 42 m
AsZJE T, t=0. 05m
AR EEAS20F nt
ARG L.
R LB S A - 518 L G 4)
JRE1E2. BmEd 3.8 m
R B SRR - R T
XTHN AT -h2B 3. 5ublF 3.8 m




2

X7 A VERERE (GXIE) (No. 1)
T # 4 (ZfH4) AL RMETEOK E AR TF
B4 o BT L= 6.7 m
p
e it i A | % R | e
(— KNo. )
( ) | ET@
+ T
As B I= 16.7 m
t=0. 15m 16. 7%2 33. 40 m
AsH| ZHLY
t =0.15m  |0.70%16.7 11.69 i
AsIEHK
4. 5Km 0. 70%16. 7%0. 15 1.75 m
AsWLgy
( ) [0.70%16. 7x0. 15%2. 35 4.12 t
I
BHO. 28 0. 7%1. 17%16. 7 13. 68 m
s (1)
BHO. 28 (0. 70%0. 62-0. 32 ~ 2%3. 14/4) *16. 7 5.91 m
HRE (F4ET)
BHO. 28 m
B (Wem)
BHO. 28 0. 7%0. 05%16. 7 0.58 m
7 e
DT4t 6.5km |0. T*1. 17%16. 7 13. 68 m
ol
0. 7%1. 17%16. 7 13.68 m
AR E
Al A 1 nt
T R T
RC40-0 t=0. 35m |0. 7%16. 7 11.69 i
b AR T
M40-0 t=0.25m [0. 7*16.7 11.69 i
{518 10 (P A= HLRLEEAS20)
t=0. 05m 0. 7%16. 7 11.69 m
AsZJE T, t=0. 05m
AR EEAS20F nt
ARG L.
R LB S A - 518 L G 4)
PREIEE2. bmEPL T m
R B SRR - R T
FTHNAT R -b2B: 3.5mPAF m




2

X7 A VERERE (GXIE) (No. 1)
T # 4 (ZfH4) AL RMETEOK E AR TF
B A 4 T T.0Q L= 7.2 m
p
e it i A | % R | e
(— KNo. )
( ) | HT@®
+ T
As BT L= 7.2 m
t=0. 15m 7. 2%2 14. 40 m
AsH| ZHLY
t =0.15m |0.90%7.2 6. 48 m
AsIEHK
4. 5Km 0. 90%7. 2%0. 15 0.97 m
AsWLgy
( ) 0. 90%7. 2%0. 15%2. 35 2.28 t
I
BHO. 28 0. 90%2. 09%7. 2 13.54 m
s (1)
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